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Introduction
In RAN4#90, the spreadsheet for computing the sync raster (GSCN) ranges was agreed [3] and captured as part of the technical report [1]. During the drafting of the WID for band n38 [2], the spreadsheet was used to compute the GSCN ranges. However, an analysis of the computed values showed some possible inconsistencies with the spreadsheet calculation. This contribution identifies those inconsistencies and proposes corrections to the spreadsheet.
Background
For band n38, there was an exploration of using 30 kHz SSB and a step size of 3 for the GSCN raster. Each item identified an inconsistency. 
Step size 
Subclause 4.3.1.5 of the technical report [1] indicates how to compute the GSCN with a step size <N>. For the low end of the range, the GSCN specified is computed from an intermediate value GSCN as
		(1)
while the high end is computed as
		(2)
This computation is incorporated in the spreadsheet for all FR2 bands as well as bands n77, n78, n79, and n41. The excel functions

and 

are used for the calculations in (1) and (2), respectively.
However, the remaining bands do not use these functions, and are not needed because the step size is 1. To support new bands that have step sizes greater than 1, it is proposed to modify the calculations as indicated. There will be no impact to the ranges in the existing bands.
Proposal 1: update the spreadsheet calculations to support step sizes for all bands.
The following steps describe how to update the spreadsheet:
· In column Q: replace the calculation for row x 
=Ox*3+(Px-3)/2 by =ceiling(Ox*3+(Px-3)/2, Nx) 
· In column T: replace the calculation for row x 
=Rx*3+(Sx-3)/2 by =floor(Rx*3+(Sx-3)/2, Nx) 
Step size consistency
During the examination of the spreadsheet, a value of <2> (“5279 – <2> – 5494”) is listed as the step size of band n65. However, the specification in 38.104 state the step size as <1> (“5279 – <1> – 5494”). 
· Assuming the 38.104 specification is correct: The spreadsheet is not consistent with the standard. The correction is to replace “2” with “1” in cell “n35”
· Assuming the 38.104 specifications is incorrect: For the step size of 2, the GSCN range should begin at 5280, not 5279. Updating the spreadsheet to use Proposal 1 would solve this as well updating the table
Proposal 2: verify the step size for band n65 and make the appropriate changes to the spreadsheet / spec
Last GSCN value
In [4], a correction was agreed for computing the upper band of the GSCN range as
		(3)
In the spreadsheet, the corresponding calculation in column M is
=Hx-Kx-(20*12/2-1)*Cx
Where Cx = , Hx = , and Kx = G. Comparing the spreadsheet and formula, there is a slight error. The spreadsheet computes 
	
In general, the difference causes fmax to be  higher and can led to the SSB to lie outside the band. The correction is simple
=Hx-Kx-(20*12-1)/2*Cx
Proposal 3: Correct the spreadsheet in column M as indicated to compute the maximum frequency value for GSCN
Note for the existing GSCN values, there is no change in the values after the correction.
Conclusion
Proposal 1: update the spreadsheet calculations to support step sizes for all bands.
Proposal 2: verify the step size for band n65 and make the appropriate changes to the spreadsheet / spec
Proposal 3: Correct the spreadsheet in column M as indicated to compute the maximum frequency value for GSCN
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